e

SEEFRAL 101 LEEFLEIA L XD
B EAE AL LERE 24

AR IAREAI R ARAALEAEHL SRRAE ALD M 25 ELARAERALERN  FAKER I -

L.In the following circuit, the switch moves from position 1 to position 2 at t=0. Use

Laplace transforms to find v(t) for t > 0. (10 43")
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2. Find C in the network in the following figure such that the total load has a power

factor of 0.9 lagging. (10 43")
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3.Find the average power absorbed by the network in the following figure if

v(£)=60+36 cos(377t+45%)+24cos(754t-60°)V. (15 43)
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4.Find the Z parameters for the two-port network in the following figure.
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